Table of Integrals: _______


Math 2432

Fall 2007 – Test IV
NAME_______________________________________________________

Part I – The Table of Integrals and a calculator may be used on this portion of the test.
If you use the Table of Integrals, then please identify the reference number.

Show all work.
Answers with no supporting work or explanation may receive only partial credit.
Exact answers are expected, unless otherwise indicated.
1. Bismuth-210 has a half-life of 5 days. If the original sample of bismuth was 20 grams, then what will be the mass of the sample after 17 days?

NAME_______________________________________________________
2. A culture of bacteria grows according to an exponential model. The bacteria culture contained 300 bacteria after 2 hours and 700 bacteria after 5 hours. When will the culture contain 1000 bacteria?
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Part II – The Table of Integrals may be used on this portion of the test.

If you use the Table of Integrals, then please identify the reference number.

A calculator may NOT be used on this portion of the test. Show all work.
Answers with no supporting work or explanation may receive only partial credit.
3. 
a. Convert the following to polar coordinates:
i. 
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b. Convert the following to Cartesian (rectangular) coordinates:
i. 
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4. 
a. Convert 
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 to Cartesian equation.

b. Convert 
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 to polar equation.

NAME_______________________________________________________

5. Match the following slope fields with the corresponding first order ODE. Explain.
A. 






B. 
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D.
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6. Use slope field in #5A. 

a. Identify all equilibrium solutions. Explain.

b. Sketch the solution for the initial value problem, 
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7. Solve the differential equation: 
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8. Solve the initial value problem: 
[image: image18.wmf]23

x

y

y

-

¢

=

, 
[image: image19.wmf](

)

11

y

-=-

.

NAME_______________________________________________________

9. 
a. Build the table to graph 
[image: image20.wmf](
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b. Sketch the points (on the provided graph paper) of the above graph for 
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10. Determine if 
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is a solution to 
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. Explain.
11. A population is modeled by the first order ODE 
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a. For what values of P is the population increasing?


b. For what values of P is the population decreasing?


c. What are the equilibrium solutions?
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